1. Write the first nine rows of Pascal’s Triangle:

row 1 71

add 2 L Ada Previous

/ /
row 4 1 A \3 1 ew" res T ©

N S~ ~~ Create o

oW 5 1 i i i 1 NewW row

—
e
)
0
N
)
-
=

‘m
=
&)
oYe
e
—

to find (x + y)* = use row n+1
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<Row1 (x+y)°
<Row2 (x+y)!

<Row 3 (x + y)?
<Row4 (x+y)3

<Row5 (x+ y)*
<Row6 (x+y)°
<Row7 (x+y)°

<Row8 (x+7y)’

to find (x + y)* = use row n+1




Do a Google search
to find similar
versions of
Pascal’s triangle.
Take a screen shot
and save it for
reference.
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to find (x + y)* = use row n+1
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4. (a-b)* 5. (2a++/5)°

6. (a’ —4b) 7. (ab-3c)*

For #4-7 and beyond:
USE PARENTHESES WHEN
EXPANDING!!

Set up problem using given values, then
solve and combine constant numbers
into one coefficient per term.

No decimals!!!
See hints on next fews slides—y,
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5. (2a +\/§)6

Problem #5 can be solved like #3 and #4 in a
horizontal manner OR the terms can be organized
vertically using a chart like the one listed below.

Both techniques are shown on the next 2 slides. Use
whichever method makes the most sense to you!

coefficient “a” “b”
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Don’t forget to check your answers!!

CHECK ANSWERS:
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8. Find the 4th term of (x
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9. Find the 6ihi term of (x —3+/5 ).\
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10. Find the 5th term of (2x — \ﬁ y)6

11. Find the 7th term of (-3x+2y)’
12. Find the 4th term of (—4x —+/5)°
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